50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN
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Time: 3 hrs.

1 a
b.
c.
2 a
b. Solve by Gauss
2%y # Xy = 2Ky =3
if A 2
1 =
c. [3
3. & g2
3 a Solve ~d—--——2dy

5%« dx?  dx

b. Solve 6o +179 4 12pe™
~ dx dx <%,
c,“Solve y"—4y'+13y:= COS2X.

3 2
Solve d—y+6fi%+11dy
x} :,_‘_dx dx

. g,

b. Solve y +2y+y—————e ;'e -

c. Solve y"+2y'+y=2x+x".

5 a. Find L[coshat]huuz«« 4
. Find L[e “sinh 4]
¢. Find R{tsm 2t}

elimination

4% 3.

+ 6y

X P
.

method

“OR

Module-3

1of2

dyar,

(08 Marks)

3x+y+Z=8. (06 Marks)

(06 Marks)

(08 Marks)

y 3%, —X, +4x, =4,
(06 Marks)

AV

(06 Marks)

(08 Marks)

(06 Marks)

(06 Marks)

(08 Marks)

(06 Marks)

(06 Marks)

(08 Marks)

(06 Marks)
(06 Marks)




e,
- o \l ﬂﬂ,
&g . J¢

6 a.

b.

C.

7 a.

b.

C.

8

C.

9

C.

a.

17MATDIP41

OR
Show. that Tt%‘“ sintdt=0. (08 Marks)
If f{t) = %, 8 <t<2and f(t +2) = f(t) fort > 2, fi (06 Marks)

t, O<t<4
Express f(t)=

3

Transforms. (06 Marks)

Find the inverse Laplace Transformof — + (08 Marks)

3 2

Find L—1|:S oL :-125+8 (06 Marks)
S

Find the inverse Laplace-Transform of —————~ (06 Marks)
Ve TN s*—Gs+d3 :

(08 Marks)

(06 Marks)

Find 1! \—_5_*‘1__}@ : (06 Marks)

| s?+6s+9

(06 Marks)
(06 Marks)

1

e probablllty that the problem is solved. (08 Marks)
¢ that P{(AUB)/C}=P(A/C)+P(B/C)-P{(ANB)/C}.
& (06 Marks)
Three macﬁmes A,Band C produde respectively 60%, 30% and 10% of the total number of
items of a factory The percentages of defective output of these machines are respectively
emii$ selected at random and is found defective. Find the probability
that the item was produbed by machine C. (06 Marks)

* %k % % %

2 0f2



